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= 27,915
O SSOME MAANE 2 =)7L Al
2 200,000& = 105 * 103 20,000
Z 8,833
o 11,167
401 AlEHIZL 204 19,800 0 19,800
Z 8,745
iy 11,055
01 Al&H| 19,800 0 19,800
O SSOME MAZ HE2 ASMHED AL
1,000,000& = 19.8m’ 19,800
Z 8,745
iy 11,055
405 KHAHF S 177,000 0 177,000
2 78,174
o 98,826
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2A: sgI=HH
dM: =g Jl=oHeg
¢ TEE NBE Sa2 MM JisEsS
SN EY O (BH) - MRAY - BLS 01l & o Bl
Gil & o
01 XL SSFSHI 177,000
O ZFH & =Zad 1,500,000& = 2CH 3,000
= 1,325
= 1,675
O RE0IM4= i 81,000
— 5004 17,000,000& = 3CH 51,000
= 22,525
= 28,475
— 300 ¢ 10,000,000& = 3CH 30,000
= 13,250
= 16,750
O A& & A0 12,000,000& * 14 12,000
& 5,300
i 6,700
O SddlX 3,600,000& = 1CH 3,600
& 1,590
= 2,010
O =NESds1 8,800,000& = 1CH 8,800
= 3,887
= 4,913
O g=27| 1,500,000& = 3CH 4,500
= 1,987
= 2,513
O &E L] 3,500,000& = 2CH 7,000
= 3,092
= 3,908
O f4axsod 15,000,000& = 1CH 15,000
= 6,625
= 8,375
O dXMS 1,500,000 * 4CH 6,000
& 2,650
i 3,350
O u 8t Il 300,000& = 4CH 1,200
= 530
= 670
O Vortex mixer 1,500,000& * 2CH 3,000
= 1,325
= 1,675
O . ey 2,000,000& = 4CH 8,000
& 3,533
i 4,467
O addgEsE ol 150,000& = 10CH 1,500
& 662
= 838
O &%= M= 20,000,000& = 1CH 20,000
= 8,833
= 11,167
O AMSHE 800,000& * 3CH 2,400
= 1,060
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D =YIIEMIEH
s JIsHe
AEd DEE sa2 MU JIsEE crolm el
- _ _ ME
SN -3 S2ARAH) - MFAY - BES &k oY 0] Ak o Hlns2
| | = 1,340
SFES THHIIE e 100,000 194,100 94,100
2 50,000
2 50,000
+Z2 AMHAE 2= 2 22 MY 100,000 80,000 20,000
2 50,000
2 50,000
402 QI+ X0l & 100,000 80,000 20,000
2 50,000
2 50,000
01 L2AXEEX 100,000 80,000 20,000
O A0S +SHMUHR SEAY
100,000,0008 * 17§ 4 100,000
=2 50,000
2 50,000
SEXES MHdlz 22 86,000 200,000 A 114,000
= 18,000
2 68,000
SEXE M JeeS 50,000 0 50,000
402 QI+X}H=0I & 50,000 0 50,000
01 eIAx=2Ex 50,000 0 50,000
O S20t STHIHBE Al
10,000,000& * 10ha * 50/100 50,000
SM ASXHES UM AlE 24,000 0 24,000
= 12,000
2 12,000
402 QI+ =0/ A 24,000 0 24,000
= 12,000
2 12,000
01 Q2AXEEX 24,000 0 24,000
O SMASHES UM Al
30,000,000 * 1J#4 * 80/100 24,000
= 12,000
2 12,000
dERS MASE HY AY 12,000 0 12,000
= 6.000
2 6.000
402 QI+ X2 0| & 12,000 0 12,000
= 6.000
2 6.000
01 Q2AX2EX 12,000 0 12,000
O 4B N 4S8 NY A
15,000,0008 * 1JH4 * 80/100 12,000
= 6.000
2 6.000
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M s€lis4dH
M g Jl=oHy

it A HEHEHE JHe DIsES (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
ML MoiEtd e DIsE3 595,300 908,452 A313,152
= 20,000
[ 60,000
= 515,300
SHOIHIS THHH Al 40,000 0 40,000
= 20,000
2 20,000
402 It XHE01H 40,000 0 40,000
= 20,000
2 20,000
01 RIZIH=EE 40,000 0 40,000
O oloIHE ol ZJ1 MU Al
40,000,0008 * 1JHA 40,000
= 20,000
2 20,000
e AZs ALY 140,000 0 140,000
= 60,000
> 80,000
402 QI+ XHE0IA 140,000 0 140,000
[ 60,000
= 80,000
01 RI2t=E X 140,000 0 140,000
O XNYEHE A=z A
00,000,000& * 1JHA = 70/100 140,000
L= 60,000
= 80,000
THATHH D223 415,300 808,452 393,152
201 Lt 300 300 0
01 AtE22|Hl 300 300 0
O gpt=&Hl 300
— MAZ0F AIEAIY E& M
50,0002 * 6IH A 300
402 QI+ XHEO0IA 415,000 808, 152 393,152
01 QA GEEX 415,000 808, 152 A 393,152
O 2720t D= HEMU JI=22 AE
6,000,0002 * 60ha * 50/100 180,000
O 87 nd XESE Al™
116,666,000 * 0.6ha * 50/100 35,000
O OtAItetAA THHHEXI =& Al
40,000,0002 = 1044 * 50/100 200,000
TEF U= Mo J=Es 163,950 41,950 122,000
= 10,000
[ 16,000
= 137,950
D AAL X ALY 20,000 0 20,000
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SA: SetlEHE
M = J|zHY
el EEY D M B2 (s &)
_ _ HE T
A E3 . S9(3H) - AR A - BYS Ao il i~ o HRs2
= 10,000
2 10,000
402 Q12X 0|H 20,000 0 20,000
=2 10,000
2 10,000
01 QIARERE 20,000 0 20,000
O Tt 284 NFE A E
20,000,008 * 144 20,000
= 10,000
2 10,000
1B D T OlzRE 111,950 1,950 110,000
201 Yer2g| 150 150 0
01 AtR 22/t 150 150 0
O gyl 150
— D20 AIYE EE HME
50,0002 * 374 150
202 01t 1,800 1,800 0
NIETE 1,800 1,800 0
MeH D Mo )E2Z ST
20,0002 * 3% * 308 1,800
402 Q12X 0| F 110,000 0 110,000
01 UARELE 110,000 0 110,000
O M22 SMI= M2l (FUSF) T Al
10,000,000 * 2ha * 50/100 10,000
O SM ASHS(22H2l) Mih AlE
40,000,0002 * 5ha * 50/100 100,000
D3 DA MUEX S4 32,000 0 32,000
= 16,000
2 6,000
402 212t XH 0| F 32,000 0 32,000
= 16,000
2 16,000
01 QARZBE 32,000 0 32,000
O ZD3 A YUK F4 MY
0,000,002 * 1744 * 80/100 32,000
= 16,000
2 6,000
Ml 23 8,000 24,800 16,800
= 4,000
2 4,000
A 20 HAXK B8 AY 8,000 0 8,000
= 4,000
2 4,000
402 Q12X 01 F 8,000 0 8,000
= 4,000
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D s9Jl=dH
DsY Jlsony

R B8

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
= 4,000
01 SI2Zt =2 X 8,000 0 8,000
O & 2ol HAEX A
10,000,000& * 1JHA = 80/100 8,000
= 4,000
= 4,000
SYES THEE AlD|= JHE 58,500 37,800 20,700
FUXS THEE AlD|= OHE 58,500 37,800 20,700
101 el4H| 5,800 5,950 A 150
04 JIZtHIZ22 a2+ 5,800 5,950 A 150
O =3 ML =g
35,000 = 2% = 10 700
O ATE &33 JI=HY el
40,0003 » 19H » 95¢ 3,800
O SY SM 20EE & ST el
40,0003 + 18 » 15 600
O D8I & ME2 ML ASTHEE 1A
700,000& 700
201 LBt 3| 6,300 7,950 A 1,650
02 3234l 6,300 7,950 21,650
O ¢ 2 4l 6,300
— Fol24d HEAHZH| 1,000& * 4,000 £ 4,000
— A3 Esul ASAEE GBI
1,000& * 800 £ 800
— MZ2 a2 Ml 2 SAIgEE HEASH|
1,000& * 1,500 £ 1,500
202 O4H| 2,600 2,900 A 300
01 =LHAbI 2,600 2,900 A300
O 9% SM NS T ASUH =3
100,000& * 1F = 143] 1,400
O 82 2 g 2y
200,000& = 2% = 13l 400
O Bt NS B 2HE
200,000& * 2% * 23| 800
206 M=l 2,800 4,000 21,200
01 MH=Z=Hl 2,800 4,000 21,200
O SZutl ¥ Reled 28 M=
500,000& * 48 2,000
O gHw=zA)) &2 M= 200,000& * 48 800
207 AN 11,000 17,000 26,000
03 Al + 11,000 17,000 26,000
O == =3 M4t J=Hg & STHOH
1,000,000& * 1= 1,000
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M s€lis4dH
M =g Dl

el SUXS T ADIE N (e @8
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Of) &b o il i~ o HRs2
O AME AZE3 JIZHL & Z bl
2,000,000 * 15 2,000
O RY SN F0UTES S ST
4,000,0002 * 15 4,000
O DETI| L MBS ML T2 ASTH
4,000,008 * 15 4,000
401 AEHILL ] 30,000 0 30,000
01 Al&Hl 30,000 0 30,000
SUNS AZAYE L BESRF UL 0=
=\ 3,000,002 * 105 30,000
SURD M4 39,300 60,760 A21,460
SHRD M4 39,300 60,760 ~21,460
101 Q1248 19,000 19,460 A460
04 JAMZRIS S 19,000 19,460 A460
O 2EZASH L HAIR 2R ML 02|
40,0008 * 4% + 100 16,000
O BAIS BHA X L AZ 22| 124
40,0008 * 3% * 252 3,000
201 Yer2g| 300 1,300 A 1,000
02 ZTZ2H| 300 1,300 A1,000
O 2l 300
— B2 S0 AR 83
1,5002 * 200 ¢ 300
206 T 2H| 20,000 40,000 20,000
01 T2l 20,000 40,000 20,000
O 2EZAS L HAIR 2R MY B
2502 * 80,000 20,000
Qe gOIIA X4 7,600 7,100 500
DRI BEHAIT T4 7,600 7,100 500
101 Q1248 5,600 5,600 0
04 JARZRIISES 5,600 5,600 0
O 2@ Mot BEFAIZ e Q2|
40,0008 * 5% * 282 5,600
206 T2 bl 2,000 0 2,000
01 T2l 2,000 0 2,000
O 2@ Xor BZFAIZ 22l MR (Y S)
1,000,0008! * 2% 2,000
UIGIZ0| MEH=E 6,000 10,000 ~4,000
BIGIE0| MEHSS 6,000 10,000 A4,000
202 01t 3,000 3,000 0
01 2L otHl 3,000 3,000 0
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SN S SHE
M sof JlEfe
Sl BIKIZ0| MEH=R (s &)
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; Hws2
SEEEEEENEEREEE
250,008 * 2% * 63l 3,000
207 2RIl 3,000 5,000 A2,000
03 AlEiei | 3,000 5,000 A2,000
O ez P20 =29 ASAY
,000,0008 * 194 3,000
HH2 YA (SIS HE) 127,677 131,637 3,960
IR TEX=BIER) 127,677 122,737 4,940
[CETIET-BIENI=)) 127,677 122,737 4,940
201 LByl 75,307 79,267 £3,960
01 At 2l 25,704 25,704 0
O yssgY| 10,874
SN2 SAHY 10,874,000 10,874
O 2949 5,600
-2 50,0002 * 1122 5,600
Oz 9,230
- RN2Y BN 9,230,000 9,230
02 ZTZ2H| 49,603 53,563 £3,960
O 2222 2 HAl 27,053
~ @2 21,200,000 21,200
- 2me3 3,208,000 3,203
- dot+E23 800,000 800
- JIE22ea 1,850,000 1,850
O 2l 5,200
- RN2Y B 5,200,000 5,200
O A&BHIKXHI 6,850
— SN2 SUKH 6,850,000 6,850
O xtgyuet| 10,500
- RN2Y BN 10,500,000 10,500
202 04t 43,470 43,470 0
01 =Uioibl 17,070 17,070 0
O BN2Y sy 17,070,000 17,070
02 2 01| 26,400 26,400 0
O SHSAANSAT FAUNY|
200,008 * 1198 * 122 26,400
203 HRFAY| 8,900 0 8,900
01 JIBSYHREAY| 3,300 0 3,300
O ZN2Y, (ES S M248Y)
3,300,0008 * 19 3,300
02 HRANMHREAY] 1,280 0 1,280
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2N sgII=HH
M HY2IFU (sLIISHH)
¢el: J2Zdl(sgllisdE) (ctel: &
_ B} _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
O FHol2g, HNslizl s HJAAI|IEEH
40,0003 * 329 1,280
04 BARAAREAY| 4,320 0 4,320
O 2ASYLRFMHI(FRE R2F) 4,320
-7 = 350,000 * 128 4,200
- Dt 5,0008 * 2% * 128 120
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